

## **CITY OF WASHINGTON, ILLINOIS City Council Agenda Communication**

Meeting Date: May 19, 2024

**Prepared By**: Dennis Carr, P.E. – City Engineer

**Agenda Item:** Bid Award – Catherine Reconstruction Project – Phase 2

Explanation: Staff solicited bids for the reconstruction of Catherine St. from Elm St. to Spruce

Street.

The existing roadway is brick with the proposed road surface to be constructed as asphalt. This project will include the placement of a new road surface, watermain, sanitary sewer adjustments, curb and gutter, sidewalk, and sump drain lines.

A bid opening took place on May 13, 2024 at 2 PM at City Hall with three bids submitted.

Company	Bid Amount					
Stark Excavating	\$ 1,779,436.30					
ICCI	\$ 2,043,886.13					
Ottobaum	\$ 1,928,200.00					

Engineers Estimate	\$1,904,024.00

**Fiscal Impact**: The FY 25-26 budget includes \$2,000,000 in the water/sewer/capital fund accounts.

**Recommendation Summary:** Staff recommends the approval of a contract award for the Catherine St. Reconstruction Project - Phase 2 for the amount of \$ 1,779,436.30 to Stark Excavating out of Bloomington, IL.

**Action Requested:** Approval of Contract Award.

CITY OF WASHINGTON, IL  CATHERINE ST. RECONSTRUCTION - PHASE 2	DATE OF LETTING: MAY 13,2025 TIME OF LETTING: 2:00 P.M.					
NAME	TOTAL AMOUNT OF BID					
ENGINEER'S ESTIMATE	\$1,904,024.00					
STARK EXCAVATING, INC	\$1,779,436.30					
ILLINOIS CIVIL CONTRACTORS INC.	\$2,043,886.13					
OTTOBAUM COMPANY, INC.	\$1,928,200.00					
	15					

		Ī		Engineer		Stark Excavating, Inc.		Illinois Civil Contractors Inc.		Ottobaum C	Company, Inc.
Code Number	Item	Unit	Quantity	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
20100110	TREE REMOV 6-15	UNIT	43	\$100.00	\$4,300.00	\$49.00	\$2,107.00	100.3	\$4,312.90	\$44.68	\$1,921.24
20100210	TREE REMOV OVER 15	UNIT	192	\$110.00	\$21,120.00	\$64.00	\$12,288.00	152.14	\$29,210.88	\$67.34	\$12,929.28
20200100	EARTH EXCAVATION	CU YD	1780	\$30.00	\$53,400.00	\$33.00	\$58,740.00	86.29	\$153,596.20	\$33.89	\$60,324.20
21101615	TOPSOIL F & P 4	SQ YD	1684	\$16.25	\$27,365.00	\$17.00	\$28,628.00	13.24	\$22,296.16	\$12.50	\$21,050.00
25200100	SODDING	SQ YD	1684	\$20.00	\$33,680.00	\$20.00	\$33,680.00	18.6	\$31,322.40	\$13.14	\$22,127.76
25200200	SUPPLE WATERING	UNIT	25	\$100.00	\$2,500.00	\$230.00	\$5,750.00	165	\$4,125.00	\$175.53	\$4,388.25
28000500	INLET & PIPE PROTECT	EACH	32	\$200.00	\$6,400.00	\$150.00	\$4,800.00	271.72	\$8,695.04	\$234.70	\$7,510.40
35101400	AGG BASE CSE B	TON	3904	\$45.00	\$175,680.00	\$48.00	\$187,392.00	41.61	\$162,445.44	\$44.31	\$172,986.24
40201000	AGGREGATE-TEMP ACCESS	TON	28	\$125.00	\$3,500.00	\$140.00	\$3,920.00	64.05	\$1,793.40	\$97.02	\$2,716.56
40600275	BIT MATLS PR CT	POUND	9234	\$1.00	\$9,234.00	\$1.50	\$13,851.00	1.49	\$13,758.66	\$1.28	\$11,819.52
40600290	BIT MATLS TACK CT	POUND	923	\$3.00	\$2,769.00	\$2.40	\$2,215.20	2.33	\$2,150.59	\$2.13	\$1,965.99
40603080	HMA BC IL-19.0 N50	TON	517	\$170.00	\$87,890.00	\$170.00	\$87,890.00	168.96	\$87,352.32	\$157.45	\$81,401.65
40604050	HMA SC IL-9.5 C N50	TON	402	\$190.00	\$76,380.00	\$200.00	\$80,400.00	193.56	\$77,811.12	\$170.75	\$68,641.50
42300200	PCC DRIVEWAY PAVT 6	SQ YD	278	\$116.00	\$32,248.00	\$175.00	\$48,650.00	118.36	\$32,904.08	\$133.29	\$37,054.62
42300400	PCC DRIVEWAY PAVT 8	SQ YD	150	\$141.00	\$21,150.00	\$180.00	\$27,000.00	120.23	\$18,034.50	\$138.41	\$20,761.50
42400100	PC CONC SIDEWALK 4	SQ FT	10854	\$10.00	\$108,540.00	\$13.00	\$141,102.00	10.24	\$111,144.96	\$10.46	\$113,532.84
42400800	DETECTABLE WARNINGS	SQ FT	220	\$34.00	\$7,480.00	\$35.00	\$7,700.00	38.72	\$8,518.40	\$41.93	\$9,224.60
44000100	PAVEMENT REM	SQ YD	3832	\$20.00	\$76,640.00	\$5.30	\$20,309.60	13.2	\$50,582.40	\$9.64	\$36,940.48
44000200	DRIVE PAVEMENT REM	SQ YD	252	\$13.75	\$3,465.00	\$18.00	\$4,536.00	37.4	\$9,424.80	\$27.30	\$6,879.60
44000300	CURB REM	FOOT	1818	\$12.00	\$21,816.00	\$5.10	\$9,271.80	13.88	\$25,233.84	\$4.59	\$8,344.62
44000500	COMB CURB GUTTER REM	FOOT	319	\$15.00	\$4,785.00	\$5.80	\$1,850.20	13.18	\$4,204.42	\$5.79	\$1,847.01
44000600	SIDEWALK REM	SQ FT	7559	\$2.00	\$15,118.00	\$1.50	\$11,338.50	2.23	\$16,856.57	\$1.75	\$13,228.25
550A0050	STORM SEW CL A 1 12	FOOT	645	\$75.00	\$48,375.00	\$62.00	\$39,990.00	88.64	\$57,172.80	\$104.45	\$67,370.25
550A0070	STORM SEW CL A 1 15	FOOT	99	\$80.00	\$7,920.00	\$77.00	\$7,623.00	100.61	\$9,960.39	\$127.54	\$12,626.46
550A0340	STORM SEW CL A 2 12	FOOT	88	\$80.00	\$7,040.00	\$110.00	\$9,680.00	121.08	\$10,655.04	\$159.18	\$14,007.84
	STORM SEW CL A 2 15	FOOT	43	\$85.00	\$3,655.00	\$160.00	\$6,880.00	149.18	\$6,414.74	\$184.61	\$7,938.23
55100400	STORM SEWER REM 10	FOOT	35	\$35.00	\$1,225.00	\$42.00	\$1,470.00	49.82	\$1,743.70	\$34.80	\$1,218.00
	WATER MAIN 4	FOOT	112	\$70.00	\$7,840.00	\$99.00	\$11,088.00	180.32	\$20,195.84	\$170.21	\$19,063.52
56100600	WATER MAIN 6	FOOT	1232	\$90.00	\$110,880.00	\$123.00	\$151,536.00	104.24	\$128,423.68	\$98.40	\$121,228.80
56108710	TAP VALVE & SLEEVE 4	EACH	3	\$5,250.00	\$15,750.00	\$5,600.00	\$16,800.00	7297.13	\$21,891.39	\$6,888.34	\$20,665.02
	TAP VALVE & SLEEVE 6	EACH	2	\$5,700.00	\$11,400.00	\$6,200.00	\$12,400.00	7999.24	\$15,998.48	\$7,551.11	\$15,102.22
	FIRE HYDNTS TO BE REM	EACH	2	\$720.00	\$1,440.00	\$830.00	\$1,660.00	1352.37	\$2,704.74	\$1,276.61	\$2,553.22
	MAN TA 4 DIA T1F CL	EACH	1	\$6,000.00	\$6,000.00	\$4,700.00	\$4,700.00	4039.19	\$4,039.19	\$5,284.73	\$5,284.73
	MAN TA 5 DIA T1F CL	EACH	3	\$6,200.00	\$18,600.00	\$6,500.00	\$19,500.00	5362.44	\$16,087.32	\$7,098.45	\$21,295.35
	INLETS TA T11F&G	EACH	1	\$2,600.00	\$2,600.00	\$2,400.00	\$2,400.00	2843.98	\$2,843.98	\$4,195.58	\$4,195.58
	INLETS TB T11F&G	EACH	1	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00	3365.09	\$3,365.09	\$4,569.88	\$4,569.88
	VALVE BOX ADJ	EACH	4	\$500.00	\$2,000.00	\$450.00	\$1,800.00	563.49	\$2,253.96	\$531.92	\$2,127.68
	REMOV INLETS	EACH	3	\$235.00	\$705.00	\$360.00	\$1,080.00	898.57	\$2,695.71	\$946.61	\$2,839.83
	COMB CC&G TB6.12	FOOT	1909	\$54.00	\$103,086.00	\$60.00	\$114,540.00	52.76	\$100,718.84	\$47.46	\$90,601.14
	MOBILIZATION	L SUM	1303	\$110.000.00	\$110.000.00	\$45,000.00	\$45,000.00	122185.2	\$122,185.20	\$134.458.48	\$134,458.48
	GAS VALVE ADJUSTED	EACH	9	\$720.00	\$6,480.00	\$450.00	\$4,050.00	301.93	\$2,717.37	\$273.38	\$2,460.42
	CONSTRUCTION LAYOUT	L SUM	1	\$21,000.00	\$21,000.00	-	\$19,000.00	28174.25	\$28,174.25	\$25,526.76	\$25,526.76
	STORM SEW WM REQ 12	FOOT	206	\$150.00	\$30,900.00	\$87.00	\$13,000.00	107.18	\$20,174.25	\$106.00	\$25,526.76
	STORM SEW WM REQ 15	FOOT	120	\$160.00	\$19,200.00	\$100.00		125.6	\$15,072.00	\$100.00	\$13,710.00

Printed 5/14/2025

Z0056612 STORM S	EW WM REQ 18	FOOT	39	\$175.00	\$6,825.00	\$110.00	\$4,290.00	153.46	\$5,984.94	\$138.22	\$5,390.58
X1200003 WTR SVC	REPL 2 SHORT	EACH	11	\$3,400.00	\$37,400.00	\$2,500.00	\$27,500.00	4564.23	\$50,206.53	\$4,308.54	\$47,393.94
X1200089 WTR SVC	REPL 2 LONG	EACH	10	\$3,500.00	\$35,000.00	\$3,500.00	\$35,000.00	3944.4	\$39,444.00	\$3,723.43	\$37,234.30
X2010106 TREE REI	1 < 6 UNIT DIA	UNIT	4	\$64.00	\$256.00	\$46.00	\$184.00	45.08	\$180.32	\$42.55	\$170.20
X2080252 TRENCH	BACK WATERMAIN	CU YD	301	\$27.00	\$8,127.00	\$32.00	\$9,632.00	69.87	\$21,030.87	\$65.96	\$19,853.96
X5610646 PLUG WA	TER MAIN 6	EACH	1	\$800.00	\$800.00	\$1,100.00	\$1,100.00	9702.09	\$9,702.09	\$9,158.56	\$9,158.56
X5610653 ABAN WN	& APPURTNCES	L SUM	1	\$60,000.00	\$60,000.00	\$4,000.00	\$4,000.00	20848.95	\$20,848.95	\$19,680.97	\$19,680.97
X5640150 FIRE HYD	NT ASSY COMP	EACH	3	\$7,900.00	\$23,700.00	\$8,000.00	\$24,000.00	11833.19	\$35,499.57	\$11,170.28	\$33,510.84
X6020082 INLETS TO	G-1	EACH	6	\$4,950.00	\$29,700.00	\$5,100.00	\$30,600.00	4380.57	\$26,283.42	\$4,904.08	\$29,424.48
X6021065 INLETS TO	G-1 SPL	EACH	9	\$5,300.00	\$47,700.00	\$5,100.00	\$45,900.00	4380.2	\$39,421.80	\$5,041.73	\$45,375.57
X6021814 INL-MN G	1 4D	EACH	6	\$6,400.00	\$38,400.00	\$7,000.00	\$42,000.00	5347.02	\$32,082.12	\$7,277.45	\$43,664.70
X6021824 INL-MN G	1 4D SPL	EACH	9	\$6,850.00	\$61,650.00	\$6,800.00	\$61,200.00	5346.65	\$48,119.85	\$7,735.45	\$69,619.05
X6022820 MAN SAN	5 DIA T1F CL	EACH	3	\$12,000.00	\$36,000.00	\$16,000.00	\$48,000.00	15552.19	\$46,656.57	\$14,680.94	\$44,042.82
X6026050 SANITAR	MANHOLE ADJ	EACH	2	\$2,000.00	\$4,000.00	\$840.00	\$1,680.00	999.69	\$1,999.38	\$2,582.78	\$5,165.56
X6026054 SAN MAN	REMOVED	EACH	3	\$2,200.00	\$6,600.00	\$1,200.00	\$3,600.00	2592.03	\$7,776.09	\$2,446.82	\$7,340.46
X7010216 TRAF CO	IT & PROT SPL	L SUM	1	\$11,300.00	\$11,300.00	\$13,000.00	\$13,000.00	4643.71	\$4,643.71	\$12,466.17	\$12,466.17
XX000679 CUT & CA	P EX WATER M	EACH	17	\$2,000.00	\$34,000.00	\$870.00	\$14,790.00	1797.52	\$30,557.84	\$1,696.82	\$28,845.94
XX006077 GATE VAI	VE & BOX 6	EACH	2	\$3,800.00	\$7,600.00	\$2,200.00	\$4,400.00	3606.31	\$7,212.62	\$3,404.28	\$6,808.56
XX008675 PAVT REI	1 & REPL	SQ YD	21	\$100.00	\$2,100.00	\$22.00	\$462.00	96.3	\$2,022.30	\$187.47	\$3,936.87
ZZZZ0001 SNP DRN	LNE	FOOT	2460	\$50.00	\$123,000.00	\$41.00	\$100,860.00	53.9	\$132,594.00	\$49.98	\$122,950.80
ZZZZ0002 ELIM SAN	MAN	EACH	3	\$10,000.00	\$30,000.00	\$3,300.00	\$9,900.00	2817.43	\$8,452.29	\$2,659.59	\$7,978.77
	<u> </u>										
					\$1,939,714.00		\$1,779,436.30		\$2,043,886.13		\$1,928,288.62

Printed 5/14/2025